[02] BFIKHE

X2 Tsil FABBAN)
# s BRA 6,434
ER A& 421
HXZTH 103
AR—TH 464
BEEt=EER 627
7K S HT 941
) 898
= AR Al 1,458
=JIENELn) 1,241
% Pl 1,178
RehA 500
=1L 1,979
T & /\FEHET 618
HIEE 230
IR AN B 113
EXRNIETE+FE 178
RYEE/\EHE 114
L/ 283
EEE— DHE] 338
EETE = OHET 1,014
ELaptuclol:) 1,278
FE 52 1S M AE HIT 1,022
AMBIZTH 576
AMRETET B 123
AMRETARTB 681
AR E £ 3,013

20144 11R

(%)

100

3R BIRERE

90

80

70 -
60 -
50
40 -
30 -
20
10 -

0

77.6

(A)
18

FMRE#R &

17

1.6
14

1.2

11

1.0
0.8
0.6
0.4
0.2

0.0

HiRERAT~ AMBTRET B

AMEIAT B~ AfME

FRAEHEIS

14%

86%

HRERAT~ ARETAT B
ABRETAT B ~ AME %R

-1/1-




